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Part One MCQ

An object is rom a Keight of 50 f1 50 ft glii) (e pus L
identify the initial conditions y(0) and y’(0) y(0), y'(0) dslxiy) L g pal sas
y(0) =50,y’(0)=0
y(0) =-50,y'(0) =0
y(0) =0,y’(0) =50
y(0)=0,y(0) =-50

‘a(o) - 53

) "bl(o) = O

An object is released from a height o@ *\,5‘3?434‘ de ju 10 40 ft g6 ) e pua Gkl
e

with an upward velocity 8ft/s).identify 8ft/s 1asma dgaia
initial conditions y(0) and y’(0) y(0),y’(0) dslaiy) Loy il ass
0)=40,y'(0) =8
y(0) ,y( ) NE Py
y(0) =8,y'(0) =40 o (
y(0)=0,y'(0) =8, > D= 8
Nt
y(0)=10,y'(0) =-8

N

L .
An object is_{eleased fr eight of(60 ft 1603 ey ge 60 [t £ 0 aen Gl
with an upward v€locity 10ft/s).identify 10ft/s 2 sma 4gaia
the initial conditions y(0) and y’(0 y(0),y’(0) &slxiy) Loy il sas
0)=10,y'(0)=0
¥(0) = 10,y'(0) ) Y- 60

y(0) = 60,y’'(0) = —10

¥(0) = 10,y'(0) = 60 N4
y(0) = 60,y'(0) =10

Yoy = Vo

Al Ao s ga 20 fE gl (e puan Gl
4ft/s Jaudl dgaia
, y(0), y'(0) 48y Ly il sas
y(O) =20 ,y,(O) =0 > D(o) -0
y(0) =20,y'(0) = —4 , )
y(0) = —4,y'(0) = 20 9 (o) =74
y(0) =20,y'(0) = 4
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Q5: - Find the time of flight of an object

launched at angle 30° with initial speed

30° dus) 30 Y gl (e puen (33U)
Galadll 3y a5l 40 M/s A Ao

-5

B e N Y

@ t=4.08s

b) t=7.07s

C) t=10s

d t=17.3s

An object launched from the grotind at
angle 20° with initial speed48 ft/s.
Find the time of flight

Qé: -

A diver drops from 30 ft above the water
(about the height of an Olympic platform
dive). What is the diver’s velocity at
impact?

1.37ft/s

= a’—;?\): -3 &‘;
NG V= (adv (-32

-‘°>§

43.8 ft/s

—-1.37ft/s
b

a°>§

—-43.8 ft/s
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= -
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B(e) =
C=%o
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N ~32exC
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Q8:- Adiver drops from 120 feet above the

water (about the height of divers at the
Acapulco Cliff Diving competition). What is
the diver’s velocity at impact?

2.74ft/s

87.68ft/s

—2.74ft/s

—87.68ft/s

dejuaagl 120ft gli)) Ge e it a8
A C.L.uu e\JLuAY\ die ulazll

- 1o

W(0)- Y otv Qe = =21 8] 5"

\\:S‘3za\u = -3k acC C=Neoz= e
N- 3t

ety C
=B Caak Qe D> TeETE

Y. v

¥=°
— — - 2/0 —_— -
“leet e =0 ) E = \/\s =2
<Wl)g\,&a})\
V(2344) = =22 (134) = -9} N

C- j ©)= n

—
-V {erx\29

e M@)?

>

Q9: - One of the authors has a vertical “ju?np” of
20 in. What is the initial velocity required
to jump this high?

10.33ft/s
V7
a°>§

106.7 ft/s

35.8ft/s
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Q10: -

An object is launched at angle 8 = g de s 38V pe @ = gi-ub'e a3 3 - 1100
from the horizontal with initial speed S Ay Al ax ol py = 98 m/s Al

vy = 98 m/s. Determine the time of PENENEPPY

flight and the (horizontal) range of the

projectile.

o- -9, Zw\bz

/\9/5;\}\0”/ )Y.S/\ Zw

“\ol3

e\% 5'\\'\]5
- ——m= 2
W.9 “.o

X = Q"\%usl‘s\g\aﬁ)
X= U ™M
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Part Two FAQ

A ball is propelled straight upward from the e i =Y (e 91931 e JSE3 3 S Caadd 2111w
ground with initial velocity 19.6 m/s. cel 5ell da 5lia MBM 19.6 m/s 45\
Ignoring air resistance, find an equation for 3n b Sy gl (B8 SN pla ) Aalaa 2a )
the height of the ball at any time ¢. Also, Al () Sl ke s g liE)) esd] Uil
determine the maximum height and the o) sell (B3 S

amount of time the ball spends in the air. \)9
L 9
o=\ 6 MNS a=-9-gwml> ’o>§
\,-_S _aqgar = Vi TAEETE
VE) = -2\ 8 (8) + C =N 6
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Y2) = ualn a6 = 98 g ™M
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Q12: - Find the time of flight and horizontal 30° 4l 3 Gl apeead 2889 Adliall 5 Gl 22yl - 1120
range of an object launched at angle 30° \)9 40 m/s 45l de s
with initial speed 40 m/s b
-'°>§
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Q13:- Abaseball pitcher releases the ball sk 60 gliiy) (pe Ul 3 SN Jgran e Y 3l
horizontally from a height of 6 ft with gl Al 6 s 130 L a8 Adlail de e
an initial speed of 130 ft/s. Find the 2 e ) da gl ) daal Leaie 3 K1) g i )
height of the ball when it reaches home L8 60
plate 60 ft away.

Noope = V3 0%/ Ney=o Vey=6%¢L %= botv
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